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1. Determine the moment of inertia about the centroidal x- and the centroidal y-axes for the shape shown
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2. A hoist consisting of a 6"x8" wooden post ABand a1 1/8"

diameter steel rod BC, supports a load P=9500 Ib as
shown. Determine (a) the axial stresses in AB and BC and
(b) the average shear stress in the 1 %" diameter pin at C.
The pin at Cis in double shear. Give all answers in psi.
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2. A hoist consisting of a 6"x8" wooden post AB and a 1 1/8" g Pin @ C in double shear
diameter steel rod BC, supports a load P=9.5 Kips as %
shown. Determine (a) the axial stresses in AB and BC and
(b) the average shear stress in the 1 %" diameter pin at C.
The pin at Cis in double shear.
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3. Avertical 6x8 timber column of Beuglas-Fir is 10' - 6" tall and subjected to a compressive load of 30,000 Ib.

Calculate the normal stress and the total shortening that occurs under this load. A 6x8 has a dressed (actual)
dimension of 5% "x7%". E= [ X108 pse
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4. A steel cable with yield strength of 50 ksi is used to support a load of 225 Kips. Select the diameter if the
cable to the nearest 1/16 of an inch using a factor of safety of 2.5 to guard against yielding.
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